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TPU AECATUYHBIX 3HAKA, TIOPSIIOK OMepaIyii co
@ CKOOKaMH

Nwms: Hara:_ Omenka:
2,9(5,3—-5,6) = (5,6 +3,1)x3,8=

5,3(5,4-5,9) = 3,75,1+2,3) =

(3,6 —5)x3,2= (13,2 +11,2)+4=

(3,4-2,1)x53= (2,9-5,6)x5=

(7,4—6,6)+2= (14,8 +9,2)+4=
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TPU AECATUYHBIX 3HAKA, TIOPSIIOK OMepaIyii co
(% CKOOKaMH

Nwms: Hara:_ Omenka:
2,9(5,3 —5,6) =—0.87 (5,6 +3,1)x3,8=33.06
5,3(5,4—-5,9) =-2.65 3,75, 1 +2,3)=27.38
(3,6 —5)x3,2=—-448 (13,2 +11,2)+4=06.1
(3,4—2,1)x5,3=6.89 (2,9—-5,6)x5=-135
(7,4—-6,6)+2=04 (14,8 +9,2)+4=56
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